Храпова Н. М. 204-803-930

Приложение 3.
Диагностичекая работа

1 вариант

1 Решите неравенство: [image: image2.png]5—4(x—2)<22—





1) [image: image4.png](—3;+x)




2) [image: image6.png]



3) [image: image8.png]



4) [image: image10.png](—o;—3)




2 Для каждого неравенства укажите его решение

	Неравенство
	Множество решений

	1 [image: image12.png]x*+1>0




2 [image: image14.png]x*+1<0




3 [image: image16.png]—1>0




4 [image: image18.png]—1<0




	1) [image: image20.png](= —1) U (1; +0)




2) [image: image22.png](—o0; +0)




3) [image: image24.png](-11)




4) [image: image26.png]





3 Решите неравенство: [image: image28.png]15

(4+x)(2-5x) <0




2 вариант

1 Решите неравенство: [image: image30.png]19—7x>20—-3(x—5)




1) [image: image32.png]



2) [image: image34.png](—o;—4)




3) [image: image36.png]



2 [image: image38.png](—4;+x)




3 Для каждого неравенства укажите его решение

	Неравенство
	Множество решений

	1 [image: image40.png]



2 [image: image42.png]



3 [image: image44.png]x?+25>0




4 [image: image46.png]x?+25<0




	1) [image: image48.png]



2) [image: image50.png](—o0; +0)




3) [image: image52.png](—5;5)




4) [image: image54.png](= —5) U (5; +0)






4 Решите неравенство: [image: image56.png]15

(4+x)(2-5x) >0




